Topic:- General Hindi

1) PTed H UHR S g T &:
1. ", Toflef S SR R

2. vy, Toityg weaned o e
3.y, oilye s SR ot |
4, v, v R R
Correct Answer :-

2) 3HeRT UEAPT BT UHT el A Sl 82
1. IR

2. SRT

3. HiuTe

4, BTGl

Correct Answer :-

3) ‘afeTe MRS e e e & 7 & o1 82
1. PP ISP
2. Sl d[TdIC
3. TRIG S1FBIC

4, ISR ST



Correct Answer :-

. P SIBIC

4) Approval e Y g1 &t iRy e &
1. 3fHIfed

2. 3FHIGH

3. 3G

7R

Correct Answer :-

5) 3R PR DT IEIEIVI 8:

1, 3R Uge ¥ gall 61 dRTIC 3N AFRI |
2. fog T =@t g fag
3. T RIS IR O, dT6] B T
Hell Hell ig BIfST ,Fic U8 94 &M ||
4, ITg IR g AYR 7Y 7S faPb <ie Hret|
31t et &1 Al foedt o S gardl|

Correct Answer :-
. g AT AfE TR 1y 7 I 3fe Fral
31t el ol |l foedl S i gara ||

6) <UD BT f[deiIH Ieg TATSY

1. UET

2. GHIIG

3. ST

4, 3O

Correct Answer :-

.« JU&T

7) BIP HID o A T, AgHar TIDrI|



7 @TT SR ST, 97 ITY IR
ST Y H DI AT SADR g2
1, JHH

2. Sfa=mifed

3.9z

4, 7Y

Correct Answer :-

8) 3ARPT 3R It HIRAT & TR yfovust iR S Bt 3T wed W B, 3@ G4
SWRIFd 1 | AT GgTa¥ BT TR He |

1, YT fore FHRae ool

2. BTt fordy Frae 9ol

3, FfSan frg ware 9o

4. 3¢ 9 Frac Jadl

Correct Answer :-

. ¢ Y Hae 93ar
9) TTH I TRY I BT IGTERVI B T &:
1. eI fed UTay g &4 U od o W RiegR|
2. 4R g ¢ Fal, 4R qH d¢ Tl

A TeTS & o fRig 51 <ers 8l

TH B! Bb! e, TH HH gl TRl 1|
3. IR o T TR 96 YA,

1ol frel Ug e, e 4R S|

Hel UR ST, IFT H R T,

- RaTe g 3 IR Al
4, b [dh el Fal Jafg I |

Y g g o @ |

(e AT 3% THRII|

aRfg Yy 7 IRfE IR



Correct Answer :-
. TR HT R S JAVEN,
ot fiel igg fide, der 4R ey |

HeT WY 3(TAT, I H ART i,
- Fewe g O IR g

10) 9 P 3994 §:

1. QI UG, faHTa, S HTd, FaRT HTa
2. RITT Y14, fqHTa, SHFT,IART HId
3, RITT U1, fq T, 3T HTa, SART HId
4. SRYTYT Y14, fqUTa, U, HaRT YTd
Correct Answer :-

« QI Y14, fqUTd, 3gHTd, TaR! Hid

11) 3fTeiad fqura:

1, FORTeRT WERT AT STcla = TR QIR 4T S el §, S 3MTeie fauTa #gd 5
2. FoTThT TERT AT SMTeie UTehR VIR UIT Yo §1T 8, I SHTcia f[auTd Hed 8|

3. FoTET TeRT A1 SMTeie UTeh” IR WTd SN Bl §, 3¢ SEIU- fauTd Fed ¢
4. TOTrTeT TERT AT 3MTaia TR R HId SR BT ], J9 SHTeie faqTd &gd g

Correct Answer :-

o TTIerT TBRT AT 3MTEaH UIehR IR HId SIF]d 8idT 8, 39 SHeid faHd ®gd o
12) 35 &1 81l:

1. 3WR[dc

2. THIRY

3. X9d

4, Wrad

Correct Answer :-



“H ¥ T BTG BT el

AR g fomiy o f5+1 ®, TRa 3 i gaeni 1«
1, I8

2. QA XY

3. SGHA I

4, YOS T

Correct Answer :-
o YA
14) U ® NS &:

1. TSY JAN, T e Jam, fgsrdf Ty

2. HHYRY THN, f&T] T, s TH
3. PHYRY AN, T S14E THN, TGSy JH™
4, TR Ay A, fgordf gum, sgsie I

Correct Answer :-
15) §g 3R 98 &1 3 &:
1. Ay 3R i
2. 92T 3R 98
3. B 3R SHfeEH
4. AP 3R TATY

Correct Answer :-

. AP 3R FHAY,

Correct Answer :-



17) T&YUT & 0T §:

1. 3qofaT, SaTaT, HTST BT R
2. 3{QUIdT, T&CdT, HIST T TRl
3. 3T, TaRAR, HTST &1 TR
4. qufdT, TR, HIST &1 TRerdr

Correct Answer :-

« U, S&d, YIS T aRa

18) STod T Hidar 1 MfF 31 B:

1. BIATED 1 AT B B Picl, ST Sal T Jaanant § fafdaq e s g1
2. BIHTHD T T HId B B, S per-al | fafrad afiq o1 S g1

3. HIATHD YT T AP Bl Picl, Sl Sai BT Jraanaii d fafdaq s S 31
4, T 1 I1 AWS DI Pid, Sl <l b g@anen § fafdrad sieh St 71

Correct Answer :-

. HIATHSD T A1 Hid BT Hid, o Bail di ygensit # fafdaa ateh sidt 1

19) 3ra<h_srafd &1 3 2:
1. gt HTST — FHT AT

2. 3@y T Tg 9Tl 3R BT g T8

3, 39y T Tg Tl 3R Jeel
4. 3fa8 H g araT 3R gHy AT

Correct Answer :-

o Sael YT — T AT

20) ‘FAERP fHa & w1 At Has?

1, IR, 1T, s iR T & #f diela ]
2. HEa, TRI6T, geads 3R s & f die g g
3. TS aT, AT, IREUS 3R Fars &ef ¥ dieia g
4, TS, ATQAT, §eas 3R fmre s H die g g




Correct Answer :-

. T, Aredl, §eads SR A &= 8 asia gl

21) «3rgT oy w82
1. Fige 19|

2. fOeH &1 |

3. HER U &1 |

4, Gz¥ehT T 4|

Correct Answer :-

o GBI HTAM]

22) § YUY W T TS &
1. Ugrat

2. UgTfe

3.Ug<

4. Ulels

Correct Answer :-

23) TYT ATAM-TT 1> BT Y a1 8-
1. 7T TTTCH §8 X181 Teieht & |

2. ST g8 RIYT T & |

3. AU RN G |

4, S TENR B, T8 AR

Correct Answer :-

. Gﬁﬁﬁ?ﬁ:"ﬂ?ﬂ%,agﬂ?ﬂ%

24) 9 =19 oftar aferd ST+ Melte 3iforR 71
T BT T I I JIRR AP

U UgH B¢ $T A Farg|

RIIGCAGEA



2. RAB<I

3, gRAifdeI 3= |
4. A T<I

Correct Answer :-

. JATB<I

25) ‘TP T, Gl TS 3MR Th TH3} e A TR @ § I’ 39 919 $1 G & ford |
1. T TG 3R &) 9IS 3R T S Rai HgH & IR IE &

2. e T, Gl U181 3R U Febs] HaH H TR @ 5|

3. U T, &1 OSSR U 93 AgH § R @ 5

4. T MY, 31 °IS 3R Uob bl HaH H TR B 8

Correct Answer :-

. TP 7Y, G NS 3R T g HgH H IR @ 1

26) ‘ATTHT’ YTINHIID og BT 31 2

1, WHR H T fohft TeAT GRT a4l &b S dTett AT 3B Hgemuii|
2. TRHR W T ol fek] GRT O BT SI a1 AT “SHTIHY HEeATT |
3. BRI T ot TRAT gRT TGS B! ST areit MR “SATHR Hgardit|

4, Tt cufad ryaT TR B 3R W IBR & oied fAUF gRT I fobt I a1t & & forg
IR eq TANT o ST B |

Correct Answer :-

« T3 e S1Ya] SR DT 3T TR IRBR o A0 [AHFT §RT I fobT S a1 ‘> & g
TR ] VAT {3 ST & |

27) AT YT ST TA 59 HaTaR o1 34 2
1. 3ffererar ¥ g gt 8

2. 3BT-GRT &bl Uh FHFHI

3, 9gd UK g

4. SgA TG BIFT

Correct Answer :-

« DGR YGDh| U JHAT



28) U MY dgq Wit B iR sgaaRT g Wi deit 8, g@ i pgd e ®IAIP
SWRITd a1 § T YTy &1 YT B3 |

1, 3G & 39, T gAY

2. SO ST U1 AT

3. 31 & ATH [ erl & g

4. S8R TR e T

Correct Answer :-

. 3 b ¥ T[Tl & &

29) TS BT AP AV &:
1, QA g g ot

2. I I BT THER

3. [SERI & qlg

4, A TH G S

Correct Answer :-
. T I BT THER
30) ‘I e BT BT A &:
1. GRS BT
2. I ATeT
3. YTl Al
4, 3T H1H (BT

Correct Answer :-

31) <3SAP T BT AT T 82
1, TGSY TN

2. HHYRY T

3. 68 9HY

4, fgr N

Correct Answer :-



32) gW 3R g b1 3 &
1. U3 iR gret
2. U8 3R TS

Correct Answer :-

. U 3R TUS

33) 3P 3R ATFa BT 3 &:
1, $d aF 3R R

2. $d g1 3R apd
3. AH 3R ATHT

4. 3 SR P H AT G

Correct Answer :~-

. HA B AR ATHA

35) B B HOd P G151’ T I T Y5 & ford |
1. HMAT IR @IE |

2. T T &7 10 PR G R

3. MNP ER IR BIE|

4. ¥ IR PR IWE |



Correct Answer :-
« N &1 T TR BT R
36) YRS UGI-foraT R UG 91 T IRa I B
1. IR - UeT ST SABRY ST
2. X 4 UGTE B! a9 98 HTABRY a1
3. IR Ug-foraanx SffYHRI & 1|
4, IS UgI-feran BRI &+ 11

Correct Answer :-

« QO UG-feradh SHiUBRI &I

37) it $OIF 3B A § 1’ T I BT Y5« g |
1. t O HT TS TH & |

2. ft pof & S A T

3. N PO P 3G A B

4. S FU1 & SHD! AT |

Correct Answer :-

. NP F P THT]

38) <3MIR’ FT fAwIH 2eq B:
1. 3FAR

2. 3FRER

3. Hfear

4, foarR

Correct Answer :-

39) ‘gied RRd € HR MM T ST g 919 8:
1. I1Gd feR SR AR =/ @

2. ek 9@, AR A=A @

3. S sTeret foR el | A o




4, AR AT 91 916d forRd et

Correct Answer :-

. FCd R 3R AR A=

40) Sl TSP 3D Bid 8, 3 IRYH 31 T 39 I P W AT H G |
1. ST ASH 8d &, d uReft 8l B

2. ARef B € O TS S Bl B

3. 3 TS Uy BId &

4, 3= TSP BId 8, d URYH BId &

Correct Answer :-

. I TP uRYH B B

41) Hifgar fameh ST UPRA P AR
1. IO T U=

2. YIS — IR TS

3. A uew

4. AQR:HE YSI

Correct Answer :-

. HIUT A US™

42) TREAT IRAT ATHS T ARTAR IR 5 &7 F iR forsy W & 17 vt 82
1, FATS & H U & ARIH & SR “SRATd! SRl A1 Ta- SHaR OR T Sl ]
2. TTCTA & & e & TIGH & SR SR sRal ATHS TR STHTR TR T STl § |

3. HIeraT &5 H WG & ARG & SR ST SRar A M STHAR UR TR STl 8 |
4, TTAT &= T THl & HH & R ‘TR SRAT 19 A SR R 747 S1l 6|

Correct Answer :-

o HTSET & T AFYA & HIGH & QR ‘RN SRl AT A SHTHCR R T S g
43) I B URUTIT §:

1. I DI ST AT G I o 3118 Bt 3yfa gl 8, SU W Hed &

2. BT B UG AT G A R e Bl 3gyfd St B, SA W a7



3. T ) U AT G A o o o e Bl €, S s e 2
4, T B 3T 1 o B O o B 3y 81t 8, 39 X e g

Correct Answer :-

. P B Ug ATYA Y o 3 BT Yfd 81l 8, SY W Hed B

44) 9 3R ga P13 B
1, YT SR O

2. YR AR F=U

3. Tl IR U

4, IUAY 3R TRT

Correct Answer :-

. JUITY 3R WA

45) 3 U H A A U 3N 1= feu 718 uzH &1 I«

R AT e R 8 A &7 sifteR St &
Sl Plel & UY WR AT, Bal BT IUSR I &l
TP 3P Tt A, o wiar § afer g
S WS UR GBI, 3R & HF TR AT

o wg Wi feraT 3, Wbe © g S #1117

UY: 3 Hiddl BT SUGH Md® dHor?
1, GBI

2. Bic

3. SfiF & el

4. WER

Correct Answer :-

o Ol D el

46) T UL P! A | U¢ 3R T f3T 710 y=A FT1 IR <



foram s < foran & <A &1 siftrer St &1 |
S Plel & UY TR AT, TaAl BT IUER I Bl |
TI-5UDR 5P A& ADy, Fora= dar g afr g |
3Ot ST IR GRBTT, 3RY & I uR AT |
o™ e WRa foran 8, dwe @ g St &7 |

UY: YPhe AER Ha I ATdl 52

1. BYI ¥ Y-8 TS &I el YRG A4 TR The I Wl & |

2. BT DI FAd-reld g B! Bl TG o IR Fabe i AR 99 9114 & |
3. BB DI 5UA-5 90 Ug DI Hefl UG o W e 1t AR a9 A1 51
4. T B -G g P Bl WG A R AR +ft ebe a1 1 B

Correct Answer :-

« D B EId-gId Ig B! Hal G o+ R b W AIgR 5 91 o

47) 39 UL B A A U 3N 1< fAT ¢y B1 3wk 3

o w==1T Wi o @ ofiF &1 iR St @11
S Blel & UY TR 3T, Hall BT ISR ST i |
TI-5HPR 5P AR A, fora Hiar § afer g
O ST IR GRBHT, 3R & HBI W AT

R Te ¥ika T & e § |ieR St 31l

UY: 39 Hfdar 8 die 3R Ta frad wdie 82
1, BIC Jabel & AR Hd W1 F Tl g

2. Pl Yebel &b 3R Bl J&I & Ul B

3. PIC IUSR & 3R T o1 &b Uiieh 3|

4, BIC Gl & 3R T Yabve! & Ui g
Correct Answer :-

. Pic Yohel P 3R Bdl @i & Ui o

48) Y UL H! LU A U 3R 2 f3T 70 U= 71 I« ¢



o e <ia o @ < &1 siftre R St 11
St Blel & UY W AT, Bl BT SUSR I B |
TI-5HP 5P AR AB, fore i g afer g |
O et IR TR, 3R & HB U= AT |

o g Wi for 3, Wbe 3 AlgR S/ &7 |

UY: S BT PR fd 32

1, TR BT SHYHR I § S o A SN |
2. S T SRBR I g ol Y AT SN |
3. SiH T HBR IY SN AT A X |
4, T BT RPRIT T ATI TS |

Correct Answer :-

. S BTHRNPR IV TN HTI TS |

49) 3 UL P A A U 3N < 3T T 727 &1 I« -

o T e o @ < &1 siftreR St 3t
W Plel & UY TR AT, Bal BT IUSR I & |
TI-5HPY 5P A& AB, o i g afer g |
T ST UR GBI, SR & B WA |
forem w1 Ui foran 8, Hove § |igR S 7 |

UY: S Hiaar A ATTH! 41 IRon el 32

1. T DI A 5 §A — §Ud 8 DY D! Hg b1 IRI fHrereht 81
2. 59 Bidd H §H 5 — 84 i o1 URUT firedt B

3. 39 I H &9 Ad U B HY DI Fe I IR0 el B

4. 39 PIAA1 ¥ GH T T P We B URON Byl 1

Correct Answer :-

- 3 B4 A TH U - §U B DY ! e b1 IRT fiyereli & |



T e &I SO 9 Ue 3R i fev e Uz 1 3wR ¢

afgensi Ft gadt Yfirer & o @ il <t A et urfFat & AR & vy ur, | fasht

UPR BT THSNAT B4 & folE GUR T8 §1 98 Y SP1 o Rix SfUeR 31 38 70 ° 3= fpdt
TPR P 3RIAYT TS 8- AT Tft TR Y w@ifdeit @ 1 T30 < HHTAT §, 98 S 9! dical
3R fEeTdl 51 ¥R &1 T@R@Td SR T &7 UTer Sl g | 9§ YA &, G 98 &7 T S al
GINEIECE T A A R

UR: §¥ T P UghT S Fo1g el <fifep qarge?
1. Sl b1 U UTetall HIdT

2. I

3. ITeft ot &1 gTet

4,

Correct Answer :-

51) 3 & &1 19 9 U 3R 4 f3u 718 U= &7 3w <

Afgarsil o wedt YfieT & IR | i St 3 w7 Rl & siftert & 0y w, § fosdt

YR BT AT F P I TR T8I §1 98 o) 39901 o0 R ot 31 88 v § 38 fapeht
UHR &1 YA T8 gt e it &R &) Tfde 8 1 49U ) FHTGT 3, 98 IQ B! dicdl
3R fEeTedt 81 TR F7 ¥EREE SR gl T U Hect 81 98 ITATT 8, AfS 98 &1 T S af
IR HIFIG St Y gl S

W 3 TR B UgHR Ia1g¥ o el <t forsy ara & fore wasgiian =gt &3 arga?
1, TRt STt Oou & SIfIERI & U R Bl YR &1 JHgidl 76 BT argd |
2. TR St et & Srgfaen & Uy R fHEh TR &1 THEia el ST Igd |
3. TMieft it el O SHYBRI & Uy WR bt UbR o1 GHeidl Aa! Bl I1gd |
4, TR STt =l & SIIBRI & Uy IR bl UHR BT THAT To] DT A16d |

Correct Answer :-

. TTef S ot S SRR & Uy TR fhE U R T TSIl et BT 9ed |

52) Y e HI U 9 Ue 3R 12 feu 0 g7 F13aR ¢



wfgarai Ft wedt Yfrer & o & i sit A a1 ur-fRrat & AR & uy ur, # fped

UHR & UG H1 & fore AR 81 §1 98 <t 371 o g e 81 93 v o 38 fasdt
TPR P 3RIAYT TS 811 AT Tft TR Y T@ifdeil 8 1 T30 <t HHTAT §, 98 39 a0 dical
3R et 81 IR &1 @RI 3R I &1 UTer Bl ¢ | 98 JAPATAT 7, UG Ig &M T B al
IR HIFG St Y g1 S

U= 3 IR B1 Ugeh? aarsy f&b e oft A Teft @) ga=in frad o1 82
1. I
2. ISCHTAT
3. STl

4, HRJHTT

Correct Answer :-

53) 3 I &I S 9 U 3R - f3T 718 v= #1 I=R <

Afgemei F wedt yftrer & o # i st A et ur-fRat & ARERI & uy w, # feed

UHR BT U H1 & T daR 81 §1 98 <l ST o R SR 81 93 v o 38 fosht
UPR P G TS 3 TRT I T TR H1 W1 8 1 T8 ) HHTET 8, 98 Iq Tad! gied
3R fEaTe 81 O) &1 T@RW1d 3R g1 1 UTer Bl ¢ | 98 JPATAT 7, IS Ig &M T DY al
IR IECAT G A AT 1

WR: 9 IR B Ugd Jarsy fos wieh oft frd srgfaem 78R & IR & ara wva 32
1. S

54) YTST P GRYTYT &:
1, UTHT §8 W1e g, Fores gR1 Ags Rt Uga o= 791 & HI4T a1 f9aR| &7 SieH-Ue™ &l

2. MTYT 98 W1eH 8, oI gRT AT Siddhe, YdR, e 9 Ugdh 3 7 & Hia a1 faeRl &1
3TEH-USH BT g



3. YY1 98 W1¢H 3, fSrd gR1 AT SiddhR, AR, [RadR d Ugdhx 3U+ T o HId! A1 faarl &1
3TEH- UG 78] HRaT g

4. VTS 98 A1eH 8, oo gRT A Rtk Sidey, 3o 79 & 11! a1 Rl &7 Sfe- UaH &l

Correct Answer :-

« Y9 I8 W1eH &, o gR1 T Siad, AR, fergas d Ugd 3= 79 & HId! a1 faaRi &1
TEH-UeH Bl g

55) HTNT & o9 &7 gid 8

1. TR HIWT, feTRad T, Hidhfces HTeT |
2. Aifges HTo, farfRae yTeT, Hee v

3. TifRges |To, fRad wwr, Hidsfaes |
4, RIS TN, YT TV, Fich s HTH |

Correct Answer :-

. HifRge Yo, fofRaa ymT, widsfads )
56) «dRT” BT 3 3:

1. &, geell

2. F&, gaait

3. F1&%, Uit

4, &9, Iddl

Correct Answer :-

« &3, gt

57) «RR iR IR P13 &:
1. TS 9 3R a%d

2. THIN & TN oIk wre

3. 9gd RMT 3R BIgHI

4. el TRRT 3R WISl

Correct Answer :-

. T 9EY 3R 9%

58) «3[Hd” HT ygigardi:



1. g

2. gR
3. HId

4. Sfgef

Correct Answer :-

59) «®Hgd §U Al SURT & 17 ol A WR Y
o9 & won T yui 9=t 81 e U AT I«
SO I 9T B¢ 82

1, TiifcenT

2. Il

3. giRfifcrenT

|

Correct Answer :-

60) “3fsal” BT 3 B:
1. B9 3R g
2. HHA 3R Ufdfss

3. PHA 3R TIGHT
4. Uc T T MR T

Correct Answer :-

. HUA R AHT

Correct Answer :-



62) 3T I a1 P! TP I | T4
Gl & SR W AT 8 14T

1. A ¥ U8 Pt W GH 51 T

2. GO g3 3R Vel T g T |

3. QATGH g 3R W AT g

4, Yhieg V Ugd gt W BT 3fd g T4

Correct Answer :-

. QY g3 3R Wel JHIG 81 7|

63) Teaad IR WA G H_ Sl wp fparwmanr g1
1. &M
2. ST
3, qAHE

4, 3JHIq

Correct Answer :-

64) H g 9k o ol ve v fa=iven &1 fmror 19 & Sror eiftres fafdemn ik
foar =18 g

1. o DIy
2. TS B
3. 31 de

4, YdY DT

Correct Answer :-

o« Y8 HIH

65) 39 AP A = 1@ aTdl:
1. ¢fd®
2. Sifd



3. Ufgp
4. 3w

Correct Answer :-

66) WETPHIH:

1. BT S BIg W, ol A1 FRIGR G0 YU =g g1 31fe Tl

2. 3GE 3R IUPT TS Dls oadl, o 1 $RIGR 701 Tud &g g1 1T
3. Wildg 3R ST A0S B U, TR} a1 SRIerd & g1 a1yl

4. Wi 3R IUDT A1 HIs adl, IeT AT RIS o Tud &g g arfeu|

Correct Answer :-

. TaG 3R IS AAF Dl gadl, Iel a1 SRR 10T T &g g1 Ul
67) Ueera § fawg &1 forar sa 81

1. 3ffarq

2. GfaTdInRum

3. fdER

4, U

Correct Answer :-

68) HIGHTYI Hedrdl &

1. I8 YTV 518 S1e7ep 30 TS ¥ (U-Tar g dRaan g |
2. 9% M o S1eres 370 URaR § SUATaT 9 Hhad 3|
3. T8 TN fOT) ST 31U IR A U1l @ Haar g
4, 98 TV ford STETeh 30 WHd § SU-TAT § YRIa 2

Correct Answer :-

. T8 U R STe 30 TRaR ST g WRaar 31

69) ‘URAIG T ST PI&MPRAd g’
ST aT H ! YgTa¥ BT Y-INT He



1. Y A1, S =T
2. & YR} IAIR S

3. 39l GBI, Bids U B a8

4, 3R IR IR TG B

Correct Answer :-

. SNTRI TR W TG IR

70) 3T T H U ¥ U¢ 3R 2 faw 1y F13wR ¢

afgersit @t gadt Yfer & ar & e St 7 a1 Ut F ifteRl & vy w), # fed
UPR T THSNAT B & [T IR 781 § | 98 1 3711 94 i SfUer g1 78 Ia o 3= faeht
UPR B gL T8t g Tl Wi TR &t TIfiF 81 7oy A FHmET 8, 98 SV 96! dicd!
3R Rt 31 R $T IER@1a 3R T BT U FRA 7 | I8 AP 8, IS I & T B Al
IR g Si1fa S g e

U: 39 TN B UGHR qa1g¥ fob TR B Wit B+ 82
1. TR B WO 3 R

2. TR BT @I Wil g

3. TR P WP AT wfa B

4. TR B W R B

Correct Answer :-

. DT B

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

We can offer a discount special items.

1. for

2. from

3.1in

4. on

Correct Answer :-



2) Choose the appropriate preposition for the given sentence:

The students were happy when the school agreed to sanction the use of calculators ___ math classes.
1, at

2. for

3. with

4. in

Correct Answer :-

3) Choose the appropriate preposition for the given sentence:

The trend is to retire ______ thirty years of service.
1. with

2. without

3.in

4. after

Correct Answer :-

4) Choose the appropriate prepositions for the given sentence:

The instructions were French. | translated it English.

1. through, to
2. into, in
3. for, for

4, in, into

Correct Answer :-

e in,into

5) Choose the appropriate articles for the given sentence:

housing facility provided by university includes some basic dormitory accommodation.

1. An, an



2.A a
3.The, a

4, The, the

Correct Answer :-
e The, the

6) Choose the appropriate articles for the given sentence:

first point to note is that donations under Section 80G are treated as deduction from
your gross total income.

1.A a
2. A, an
3. The, a

4. The, the

Correct Answer :-

7) Choose the correct form of verb for the given sentence:

When | went to interview the film star, he told me that he couldonly ___ me a few minutes.
1. lend

2. spare

3. hear

4. spend

Correct Answer :-
e spare

8) Choose the correct form of verb for the given sentence:
One of the trees has been down.

1. fell
2. cutting
3. cutted

4, cut



Correct Answer :-

e cut

9) Choose the correct form of adverb for the given sentence:

As the car caught fire, he jumped out
1. unknowingly

2. with fear

3. immediately

4, similarly

Correct Answer :-
¢ immediately

10) Choose the correct form of adverb for the given sentence:

When students register for classes, they must pay an additional fee.

1. quickly
2. lately

3. slowly

4, late

Correct Answer :-

e late

11) Choose the correct form of adverb for the given sentence:

Though he was disguised, he was captured by the police.

1. conspicuously
2. smartly
3. carefully

4, neatly

Correct Answer :-

o carefully



12) Choose the correct form of adjective for the given sentence:

Anita is full of life and energy. She is very
1. brilliant

2. cheerful

3. lively

4, interesting

Correct Answer :-

13) Choose the correct form of adjective for the given sentence:

The noise from the discowasso _______that | had a severe headache.
1. tolerable

2. tolerating

3. intolerant

4, intolerable

Correct Answer :-
e intolerable

14) cChoose the correct form of expression to complete the sentence:

The worker receiveda ____ when he was injured at work.
1. compendium

2. contribution

3. refund

4, compensation

Correct Answer :-

e compensation

15) Choose the correct form of expression to complete the sentence:

In order to give up smoking, you need to exercise great

1. will power



2. abstinence
3. effort

4, endeavor

Correct Answer :-
o will power

16) Choose the correct form of modal auxiliary verb for the given sentence:

She asked the driverif he ______ kindly stop the bus.
1. shall

2. would

3. should

4, will

Correct Answer :-

e would

17) Choose the correct form of tense for the given sentence:
Although he _____ hard for over five years, he hasn't got a degree yet.
1. has been studying

2. will study

3. studies

4, is studying

Correct Answer :-
» has been studying

18) Choose the correct form of tense for the given sentence:

Our English teacher all the books last Friday.

1. has corrected

2. will correct

3. corrected



4, had corrected

Correct Answer :-
e corrected

19) Choose the correct form of tense for the given sentence:

I___ youknow the result as soon as it is announced.
1. have let

2. will let

3. had let

4. was letting

Correct Answer :-

o will let

20) Choose the correct form of tense for the given sentence:

Does your brother English?

1. spoken
2. speaking
3. speaks

4, speak

Correct Answer :-

21) Choose the appropriate articles for the given sentence:
Board Meeting was chaired by CEO in the absence of the Chairman, who was on
vacation.
1. An, the
2.A a
3. A, the

4, The, the



Correct Answer :-

22) Choose the appropriate articles for the given sentence:

brief report on two-day workshop on Marketing and Sales held in May has been
enclosed.

1.A a
2. The, an
3. The, the

4. A, the

Correct Answer :-

23) Choose the most suitable determiner for the given sentence:
Therewas ___ food to feed an army.

1. most

2. more

3. much

4. enough

Correct Answer :-

e enough

24) Choose the most suitable determiner for the given sentence:
Isthere ____ buttermilk in the cooler?

1. little

2. much

3. any

4, few

Correct Answer :-



25) Choose the passive voice of the sentence.
Shut the door.

1. The door is to be shutted.
2. The door is shut.
3. Let the door should be shutted.

4, Let the door be shut.

Correct Answer :-

e Let the door be shut.

26) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: According to the passage, for how long had the study on the animal been conducted?



1. Not mentioned in the passage
2. 3 years
3. 30 years

4. 20 years

Correct Answer :-

27) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera Dolasia

Question: How did the team study and know more about the rodents?
1. The volunteers wore different shirts when they appeared before them

2. They hid inside the prairie dog villages and recorded the sounds



3. The scientist played back some of the recorded sounds

4, They placed secret cameras at strategic points

Correct Answer :-

« They hid inside the prairie dog villages and recorded the sounds

28) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: In the passage, the writer say that these animals were “dubbed dogs” because they:
1. lived in the prairie dog villages

2. barked like a dog

3. were as intelligent as dogs

4, looked like canines



Correct Answer :-

 barked like a dog

29) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: A suitable title for the passage could be:
1. The secret language of Prairie Dogs

2. Vocabulary building by animals

3. The great story of the Gunnison Prairie Dog

4, Professor Con Slobodchikoff’s research

Correct Answer :-

o The secret language of Prairie Dogs



30) Read the passage carefully and answer the question given below:

Who would have thought that every squeal, squeak and chirp that comes out of the mouth of the
humble Gunnison Prairie dog means something? A three-decade study of these rodents has
revealed a language so complex, that it surpasses the communication skills of dolphins, whales
and even non-human primates like monkeys!

The stunning findings were revealed by Professor Con Slobodchikoff, who has been recording
and studying the sounds of these animals and has identified a vocabulary comprising least 100
words.

The smart little rodents use their words to identify not only who the predator is, i.e. a coyote,
human, dog, or a particular kind of bird, but also details like their shape, size, color and even the
pace at which they are approaching.

To conduct his research, the professor and a number of students from Northern Arizona
University, hid inside the prairie dog villages and recorded all the sounds they made. What the
team discovered is that these smart creatures are able alert their entire group of many details,
(the predator, its color, location, etc.) by sounding just one single 'word'. They do that by
modulating or varying the pitch of their voice.

What was also interesting is how the animals responded to each kind of predator. In the case of
a coyote, they quickly scampered into their burrows; while for badgers, they simply laid low, to
avoid being spotted.

To test their theories, the scientist played back some of the recorded sounds, as well as, asked
four volunteers to walk into the prairie village, wearing a different coloured shirt each time, the
rodents reacted exactly the same way they had in the presence of the real predator, confirming
that the animal had not only conveyed that the predator was a human, but also, whether he/she
was fat/thin and the color of the shirt! Simple fascinating!

While dubbed dogs, thanks to their canine-like barks, Prairie dogs are actually ground dwelling
squirrels and part of the rodent family, which includes not only rats and mice, but also,
porcupines and beavers. The Gunnison, found primarily in North America, is one of five species
that is alive today.

By Meera
Dolasia

Question: Which one of the following statements is TRUE according to the passage?
1. The language of the rodents were not as complex as those of dolphins or whales

2. In his study, the scientist identified more than 100 vocabulary

3. Prairie dogs are land squirrels belonging to the rodent family

4. The Gunnison are found everywhere, except in North America

Correct Answer :-
¢ Prairie dogs are land squirrels belonging to the rodent family

Topic:- General Knowledge



1) 1f 5th of the month falls 4 days after Sunday, then what will be the day on
the 16" of that month?/ I} WA #1541 A MaR & 4 A IIg e 7, AT WA &
16 3 fea 1= 1 feT g

1. Wednesday/ gUdRR
2. Sunday/ AR

3. Friday/ P dR
4, Monday/ THAR

Correct Answer :-

« Monday/ 9HaR

2) Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok’s
rank is 17" from the last, then what is Suresh’s rank from the start?/ 39

fagmafial @1 v wen §, I, =N [ 7 Ug M 1 Afe srNe F1Ug, i3 A 17491 g, ot
I BT UG 3N A FT HM?

1, 23th / 23qi
2. 16t/ 164i
3. 24t / 24qi
4,12t 7 12gf
Correct Answer :-

. 16t/ 164i

3) In the following question, select the related letter/word/number from the

%%I;n alternatives./ F=AfaRaa U= # foT e faweul 4 O TW=fRe sieR/r/HE &
|

LMN: VWX :: BCD:?
1. FHG
2. GFH
3. FGH

4, HFG

Correct Answer :-

« FGH



4) In the following question, select the related letter/word/number from the

%ggn alternatives./ f=feRaa uza # fou v fawel § Q TR sieR/Aen &1
|

ARCHITECT: BUILDING:: SCULPTOR:?/ aRg®R:3URA :: gfdPpR:?
1. Chisel/ &t

2. Statue/ fcrHT

3. Stone/ AR

4, Museum/ IUgTeg

Correct Answer :-

. Statue/ UfaHr

5) In the given diagram the rectangle represents males, the circle represents
actors and the triangle singers. Which nhumbered area represents male
singers?/ f3U T M@ ¥ 3mad g Ul &1 ufafHiitea wwar g, gu sritmarsi ik Ay mawt
BT ufafiRca S3ar1 8 | ST HHifpd & T3V MaH) &1 Ui Har 8-?

1.3
2.5
3.8
4,6

Correct Answer :-
e 3

6) DIRECTIONS: Which of the following can replace the question mark?/
oz & 3 B, uy foe # wloTRa SR awar g 2

CD-12, LB-24, BP-32, NE-?
1. 45
2.75
3.95

4.70



Correct Answer :-

7) Select the correct combination of mathematical signs to replace * signs

and to balance the given equation:/* gl ) gaq & forw ofiv faw v Tfieu #)
Tgfera - & fore nfvrdia ddal &1 a8l Saie gH:

8*¥6*96*2=0
1.- X +

2. X + -

3. X -+

4, -+ - X

Correct Answer :-

e X — -

8) Which one will replace the question mark (?)?/fFA &3 &9 uxME g (2) &1
RO Hem?

7 3 5 1 ﬂ/ﬁ 3%-}/3
83 33 a8

1.4
2. 11
3.5

4.6

Correct Answer :-

9) Snake, reptile and rat can be represented by:/ H"fq, hﬁmﬁﬂ&ﬁvq%aﬁ
SR ST 9l &

QD



OO

2

O~
OO0

Correct Answer :-

O~

10) Anil is taller than Sunny who is shorter than Baby. Anil is taller than Bose
who is shorter than Sunny. Baby is shorter than Anil. Who is the shortest?/

fet, TN A AT g, S Sdl A BleT | v, 9 A dar g, S T A Sler g1 99, e d
B 3| T8 BT B 82

1. Sunny/ 9=t
2. Baby/ Sl
3. Anil/ e
4, Bose/ g

Correct Answer :~-

. Bose/ 99

11) How many major seasons are there in Madhya Pradesh?/ H& =T | fobaq u'ﬂ@tﬁﬂ'l:[

1 37
1.3
2.4
3.2

4.5

Correct Answer :-



How many districts of Madhya Pradesh were there in 1956 after the Reorganisation of

States was done?/ 1956 § IUl & TS & ¢ e SR A fara forar A2
1. 43
2. 41
3. 44

4,42

Correct Answer :-

« 43

13) Simhastha is held in Ujjain after every Years./ ﬁmaﬁqﬁm GL
¥ 1 Saifora fovar SiTan 81

1.7
2.10
3.12

4.5

Correct Answer :-

14) The Sanchi Stupa was initially and originally a low structure made of —/ it S
TRINS =7 A 3R i =7 A ¥ A ue sYer T ATl

1. Stones/ U&R
2. Sandstone/ I 3T TR
3. Clay and mud/ ﬁﬁﬁ?{ BﬁTTﬁFﬁﬁ@

4, Bricks/ %%

Correct Answer :-

« Bricks/ %f%

15) The Diwari in the Baredi dance is actually — / ¥ T H Sart a<a & 1 82
1. The poetry before the performance/ EIT{-‘Zf:[ @qﬁﬁm—ﬂ

2. The poetry after the performance/ UaR ¥ UYTd &1 SHigal

3. The jewelry worn by the performers/ Tcfpdl gRT UgA T ATYYT
4. The dress worn by the performers/ Tdfear gRI tl%ﬁ U g3



Correct Answer :-

« The poetry before the performance/ W@Uﬁﬁm

16) The folk-lore of Dhola Maru also sang in parts of Madhya Pradesh is originally from —/

AT A Sl P AU & P &7 | AT 4T § I aP U A f5a I 31 dlpia 82
1. Maharashtra/ HERTY
2. Uttar Pradesh/ 3T Uc®l

3. Gujarat/ 7]sIRId
4. Rajasthan/ TSIR{[q

Correct Answer :-

« Rajasthan/ SIRITH

17) The area of Madhya Pradesh covers about of the country’s area./ U A
BT AN YT e YR & eha o M 21

1. 9.8%
2.9.9%
3.9.5%

4, 9.0%

Correct Answer :-
e 95%

18) The inscriptions of the Bandhavgarh Fort is in the language of — / Fit[Ai¢ fra &
Rraraa frg yrar d g2

1, Pali/ TTelt
2. Prakrit/ Ul d

3. Sanskrit/ I&pd
4. Braj/ sl

Correct Answer :-

« Sanskrit/ %&pd

19) Towards which direction does the Central Highlands slope?/ ITsd F Pl tl?'ﬁﬁ ':-'E‘I'Iﬁﬁ
1 e forw fa=m &Y ok g1 82

1. South/ &1



2. East/ 1171:

3. West/ Ui

4. North/ 3R

Correct Answer :-

e North/ 3t

20) The recently launched e-RaKAM portal is related to the welfare of —/ B'Iﬁiﬂﬁ%'l-l'l?"l-[
P 7T SIPH UIcH 5T 87 F Heuur A i 872

1. Mining Industry/ T=- 32T
2. Students/ ®F

3. Income — Taxpayers/ AT — Hcldl
4. Farmers/ foodm=

Correct Answer :-

« Farmers/ fpam™

21) In whose court was Tansen a musician of?/ fPae Iol-gRdR H a3 SiideR 32
1. Humayun/ HRY,
2. Shah Jahan/ QTgSTg!

3. Jehangir/ S8R
4. Akbar/ 3{helX

Correct Answer :-
e Akbar/ 3{heR

22) In which year did Babur establish the Mughal rule in India?/ {59 a8 & I/eR 3 YRTG A
TITE A RO foar 42

1. 1627
2. 1529
3. 1528

4. 1526

Correct Answer :-

- 1526



23) In which year was the Sahitya Parishad established in Madhya Pradesh?/ ey o

e ufkue &1 fob af & wfa fasar wman 412
1. 1952
2. 1955
3. 1954

4. 1953

Correct Answer :-

« 1954

24) In which year was Kanha constituted into a National Park?/ frPaad d Cakd) Gal QT@TI
I & U A e forar ar Y12

1. 1957
2. 1955
3. 1956

4. 1954

Correct Answer :-

« 1955

25) Which of the following initiatives is related to enriching forested areas with medicinal

plants?/ SR Ugd Studia tiel & Ty a1 &5 & UG $1 | TR 32
1. High Tech Plantation Scheme/ 8T8 <& WITCXI TSI

2. Lok Vaniki Mission/@lis dT=ab1 f=

3. People’s Protected Areas/ SIHATd] TRI&T &

4. NWFP Scheme/ TIS&gUHU! Ao

Correct Answer :-

» People’s Protected Areas/ SHaTe] TRfEd &

26) Which of the following districts fall under the category of densely forested districts of

the state?/ Fraferiaa foral # @ ®i1- a1 fore w+it a=1-3marvr arat foral @5t 9oft & aran 2
1. Morena/ BT

2. Sidhi/ Freit

3. Gwalior/ TTfeRR

4. Nimar/ 9918



Correct Answer :-

« Sidhi/ Teft

27) Which of the following folk-dances of Madhya Pradesh is initiated by a lone woman

locally called ‘Jhela’?/ HHOYSRT & Y -l H T HIH- I WM TR W T $ga™
el el Al GRT IR fowaT ST 32

1. Matki/ He®!
2. Badhai/ 918
3. Gangaur/ 710 R

4. Rai/ I8

Correct Answer :-

« Matki/ ACHI

28) Which of the following folk-dances has a special significance to unmarried girls of that

region?/ FFafifa diw-a@l A I S-a1 T sifyarRa asfeal & R faRty wew ar 82
1. Ahirai/ 31gRTS

2. Gangaur/ TTORTR

3. Naurata/ IRTdT

4, Rai/ TS

Correct Answer :-

« Naurata/ ::lRlEII

29) Where is the annual dance festival ‘Lokranjan’ held?/ aﬁﬁwwmﬁg AP BBl
TSI BIell 82

1. Sanchi/ Sl

2. Bhopal/ Uara

3. Ujjain/ I

4. Khajuraho/ E\_rﬂl%?f

Correct Answer :-

« Khajuraho/ @Fjajlél

30) Where is the Mamleshwar Temple situated?/ ﬂmﬁ%ﬂ 'Flﬁ? ﬁT @ %?
1. Ujjain/ I=H



2. Khajuraho/ E@QIE‘I

3. Ratlam/ YddH

4. Omkareshwar/ 3BRYT

Correct Answer :-

¢ Omkareshwar/ M%R

31) What is the time for sowing Rabi crops in India?/ mﬁﬁrwﬁﬁ'@éwww

87
1. September-October/ RidaR- 3fagar
2. January — February/ SHAR- TRaR]

3. November — December/ FdeR- fadaR
4. February — March/ PRa}l- AT

Correct Answer :-

« September-October/ fdeR- 3fagaR

32) Which clan of Rajputs did Raja Bhoj belong to?/ ITST HIS ISTYdl & $iH- | =19
T &2

1. Parmara/ URHR
2. Chandela/ aﬁﬂ

3. Bhumihar/ Y8R
4. Ganwaria/ TaTfar

Correct Answer :-

« Parmara/ IRHR

33) Who launched the newspaper ‘Kesari’?/ THHR U BN P RS 3Td feaa ot die
1. Lala Lajpat Rai/ ©T¢IT &S d T

2. Bal Gangadhar Tilak/ STl TR faeids

3. Aurobindo Ghosh/ 3RRfdgl €Iy

4. Gopal Krishna Gokhale/ IR P UIRCLY

Correct Answer :-

« Bal Gangadhar Tilak/ &Tel TTeR facis



34) Which city of Madhya Pradesh will have India’s biggest Global Skill Park?/ YR &

PIH- e H YRA PT a4 I8T AP PN UM (WWad f&pa urd) FHfifa ghm?
1. Jabalpur/ Sle[efyl
2. Bhopal/ Hiard

3. Indore/ AR
4. Gwalior/ TaTferIR

Correct Answer :-

« Bhopal/ HOTd

35) On which river’s banks was Harappa situated?/ gSWI g =<t F fpar R Ry« u1?

1. Luni/ AT

2. Bhogava/ HRTTar
3. Indus/ ﬁiﬂ

4. Ravi/ fd

Correct Answer :-

« Ravi/ Tfd

36) If ‘MADAGASCAR’ can be written as '4727879670', then 'MADRAS' can be
written as:/ ¢ '"MADAGASCAR’ &1 '4727879670' {Ra1 W1 ®, 99 'MADRAS' &1
7 foraT sram?

1. 472490
2.472079
3.427409

4, 424290
HCorrect Answer :-
« 472079

37) The simple interest on a certain sum at 5% per annum for 3 years and 4

years differ by Rs.42. The sum is:/fPd IR R 5% I <aTeT H1 T A 3 TuF 3T 4 Tl
H Yo ATLRUT TSl § Rs.42 BT 3(aR 8 | IR [T B9

1. Rs.750
2. Rs.210

3.Rs.280



4, Rs.840

Correct Answer :-

+ Rs.840

38) In a certain code ‘PLANT' is written as '$@2*©’ and ‘YIELD’ is written as
‘#64@%'. How is ‘DELAY’ written in that code?/f&dt (A3 ¥ & ‘PLANT' &t
red € '$@2*©’ 3R "YIELD’ 3! fored § ' #64@%’ | 39 e # 'DELAY’ &3 for@n
SR

1. #4*2%
2. #4@2%
3. %4@2#

4. %42@#

Correct Answer :-

39) A and B together can do a piece of work in 5days and A alone can do it in
8 days. B alone can do the same piece of work in:/ A 3fi¥ B fia®: fel dTH &I 5
oA o P UPa B 3R A 3P d 3T HH B 8 &A1 A H Iwhar g, a1 B 3(Pbd 3T BTH oI fha
e & s

1 1
1=
3

' 11=
1. days/ 3 fad

1
33

- 1')3
2. days / i o

162 162
3. Sdays/ 5faa

1232 123
4, Sdays/ 5 fad

Correct Answer :-

133 132
3

. 3 days / fe

40) The difference between the interior and exterior angles at a vertex of a
regular polygon is 150°. The number of sides of the polygon is: /WEEHGI%
TR TYT ITET IV BT SR 150° 81 TEYS BT YT DI ST 1 B |

1.24
2.10

3. 15



4. 30

Correct Answer :-

. 24

41) A car goes 10 meters in a second. Find its speed in km/hour./@Wl'\q?ﬁ
H 10 Hiex Dt g 99 Bl g1 PR St i fopdt/ee & ra dL

1. 48
2.40
3.36

4.32

Correct Answer :-

42) Simplify: /93 B

1

2
i—3

1+

G
158
2. 17
11
14
3, 17
21
12
4, 17

Correct Answer :-

11
122
o« 17

43) Simplify: /93 BN:

2
3
]_-l-j‘
1+E

1+

=?



|

| =l

| s

R |

4.

Correct Answer :-

44) The average salary of all staff of a school is Rs.10,000. The average salary
of 20 teaching staff is Rs.12,000 and that of non-teaching staff is Rs.5000, the
number of non- teaching staff is:/Wﬁamtrﬁmﬂmﬁvﬂaﬂeﬁmm
Rs.10,000 &1 20 3[SATISH] BT 3T 3T Rs.12,000 TUT 34 Sl ATIH 81 8, Pt SN 34
Rs.5000 &| 39 HHATRY] P TBAT JTd B3, S TP 6! 8|

1.7
2.12
3.10

4.8

Correct Answer :-

45) If in a code language RUSTUM is written as INWANZ and RASTOGI is
written as IXWAVIK, how would RUSSIA be written in that code?/ H‘%W
If3a HeuTa T § RUSTUM &1 INWANZ T SITem 8 3ik RASTOGI & IXWAVIK forar
SITdT @ °1 331 e HTIT H RUSSIA & frd U ferdd 2

1. INWWKX
2. INNWKT
3. INNWNX

4. INNWK]J

Correct Answer :-

« INWWKX



By selling a plot of land for Rs.45,000 a person loses 10%. At what price should
he sell it to gain 15%7?/ Rs.45,000 § T Y@US d§°- U TP Al DI 10% T IS TSl
?, a1 15% 14 FHM F T yavs ot fHan wud & S=m wma?

1. Rs.60,000
2. Rs.57,500
3. Rs.55,000

4. Rs.50,000

Correct Answer :-

« Rs.57,500

47) The sum and product of two numbers are 12 and 35 respectively. What
will be the sum of their reciprocals? /3l H@I3{T &1 IRT AT UG HHRT: 12 TUT 35
2, ST bW BT GITT T §IIT?

12
1,35

35
2. 12

W
| =

L] =t

4.

Correct Answer :-
12
. 35

48) The sum of three numbers is 98. If the ratio of the first to the second is 2:
3 and that of the second to the third is 5 : 8, then the second nhumber is:/?ﬁq
H@T3HT BT AT 98 71 AfS Uga! iR gkl | 2 : 3 % uTd H g 3R gast 3R st Hem &7
YT 5 : 8§, ) GRS FTd 9|

1. 48
2.20
3.49

4. 30

Correct Answer :-

« 30



49) A can do a piece of work in 15 days and B in 20 days. If they together work
on it for 4 days, then the fraction of the work that is left is:/A wmﬁ 15 ﬁ=ﬁ
AaurB, 20 RN AR IFpaT g AR ITHE T4 RAT TP FH FA AN AU P E:

1
1. 4

4,10

50) A train is moving at a speed of 132 kmph. If the length of the trainis 110
meters, how long will it take to cross a railway platform 165 meters long?/

TS 110 HieX dt Yermst i 132 foreii/dier o5t wfa A I 81 81 S/ TH 165 Hiex @d [ B UR
H H fHaaT I9g T2

1. 7.5 seconds/7.5 s
2. 15 seconds/15 JdHg

3.5second/ 5 qhs

4. 10 seconds/ 10 ¥Hg

Correct Answer :-

. 7.5 seconds/7.5 ¥&S

51) A train 800 meters long is running at the speed of 78 kmph. If it crosses
a tunnel in 1 minutes, then the length of the tunnel (in meter) is:/ T 800 HicY
el Yo 78 fpei/Her @t T A Terd §T T T &Y 1 fire # IR o Adl 81 Sa1s5E 99 I
Pt dars @Hex &) frai 22

1. 1500
2.77200
3. 500

4. 13

Correct Answer :-



52) A sum becomes Rs.1,352 in 2 years at 4% per annum compound interest.
The sum is:/ I YRR 4% IIF THglg SIS St T A 2 T A Rs.1,352 B ST B, oY &
T B:

1. Rs.1,270
2. Rs.1,245
3. Rs.1,250

4. Rs.1,225

Correct Answer :-

« Rs.1,250

53) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi&ﬂ: ﬂ%ﬁqwmﬁgﬁmmsﬁ-\rm
a1 $o fsepd fo e &1 emue! fou T Hy=l &Y Wer 9T | U g dyma aal | A
Tdid g g1 | I frseu &) ufew fibe ag Fifoe i few e et & & w-ar fAsed few 1w
FYAI BT AHETT TU I A0 AT 8, TS TIFd 9% $B 1 g1

Statements: /HY:

Some papers are dogs./ P& P, g>ca %I

Some dogs are windows./ Wﬁ, Rasfear g

All windows are trees./ H‘lﬂw, ﬂ%’%l
Conclusions:/ﬁ'ﬁaﬂf:

I. Some windows are papers./ W@'S_'W, SIS &1

I1I. Some papers are trees./ PO DN, ag%l

1. Either Conclusion I or II follows/ a1 sy I AT 11 WW%
2. Neither Conclusion I nor II follows/ Tfsey 1 T11 &I’:R‘ITUTW%
3. Only Conclusion I foIIows/WﬁEFETI &WW%

4. Only Conclusion II follows/ %dd ftr 1T SR HRl §

Correct Answer :-

« Neither Conclusion I nor II follows/ Tfspy 1 11 GERWUTW%



54) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fdr: :ﬂ%ﬁqwmﬁwaawaﬁ?w%
91e $o e fou Tu &1 Smuw! fT T Hu=l 1 T A= § YA 81 3 wdara aa @ i
wota gia gt | It et &Y ufee fpe au i fop fw e frseof & @ w-wn frepd feg g
HY) BT THHTT TU Y STV AT 2, T T 9% 52 W g1

Statements: /P Y:

No book is pen./ ®13 [x®, U4 78] 21

Some pens are men./ $S U, 3MeH! gl
Conclusions:/ﬁ'&ﬂﬂf:

I. Some men are books./ Wan'cm“r, 1BT-I%%’I

II. No man is book./ Hﬁ'&fﬂﬁlﬂ, WT@%I

III. All men are pens./ Tt Gﬂa'lﬂ, ﬁT-l%'l

1. None of these/378 J &S gl

2. Only I follows/%ad I IR0 63l §

3. Only either I or II foIIows/WZITI qr 11 &@WW%

4, Only III follows/w I1I &WW%

Correct Answer :-

e Only either I or II follows/év_dﬁ?lﬂl qr Il WW%

55) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ'c'f!&: :ﬁ%ﬁqwmﬁwmmaﬁ?m
a1 7o et fau T §1 st 3T 71T Hy= o1 I AT | Ha 8 3 wdgma aal | e
wdla gid 811 Teft st o1 ufew fbr au @ifme % faw e fswt & @ wi-ar fraed e e
FYI BT THET Y I HTERVT HdT §, T8 Jagd a1 o Wi g1

Statements:/ ®Y-:

All Stems are flowers./ 9t @1, a3
Some flowers are trees./ $9 d, ﬁ's'%l
Some trees are leaves./ Wﬁg, tlﬁl'lﬁ'%'l
All leaves are plants./ mﬁqﬁnﬁ, mY
Conclusions:/ frep:



I. Some stems are trees./ W?ﬁﬁ'&'%l
I1. Some flowers are plants./ $9 Pd, qre F

III. No flower is plants./ @13 Bd, UieT T8l 81
1. Only I and II follows/ %dd I 3R II 3R B &

2. Only I follows/ 3adl I 3IERUI BT &

3. Only either II or III follows/W?IITII qr 111 GIENTUTW%

4. Only III follows/ ad 11 3TRU HdT &

Correct Answer :-

« Only either II or III follows/ &%dd T I 4T I1I &WW%

56) The HCF of two numbers is 15 and their LCM is 300. If one of the humber is
60, the other is: /<l SBT3 BT H.9. dUT . 9. HHI: 15 dUT 300 € | Tl b TWAT 60 &,
SO ST [T B |

1. 100

2.75

3. 50

4. 65

Correct Answer :-

57) A alone can do a piece of work in 6 days and B alone is 8 days, A and B
undertook to do it for Rs.3200. With the help of C they completed the work in 3
days. How much is to be paid to C?/AWW@WG@'&[WW%WB
3Pd I HRf B 8 fei & HR AHaT g1 A 3R B A Rs.3200 & B 1 fordier ot 3fR ¢ Ft ueg
¥ 35H ol o1 3 o o @ o fGan,at g IR § ¢ &1 fewwan fovam g

1. Rs.400
2. Rs.600
3. Rs.375

4. Rs.800

Correct Answer :-

¢ Rs.400



There are Rs.225 consisting of Rs.1, 50 paise and 25 paise coins. The ratio of their
numbers in that order is 8: 5: 3 respectively. The humber of one-rupee coins is:/

Rs.225 1 TP YRR & S Rs.1, 50 T 3R 25 T & Ryapl & =u d g1 afe Riaw) #1 J=m s -
5:3 % IJUTd A B, <l TP A & Rige! ) "= 1 S|

1. 80
2. 160
3. 112

4.172

Correct Answer :-

« 160

59) The milk and water in a mixture are in the ratio of 7: 5. When 15 litres of
water are added to it, the ratio of milk and water in the new mixture
becomes 7: 8. The total quantity of water in the new mixture is:/wﬁrsmrﬁ'g%r
3R T T 3UTd 7 : 5 81 5Id SHH 15 Tiex T fAemar SIrdr &, dt ¢ fagor & go 3R urit &1
3UTd 7 : 8 81 oraT 81 7€ Rygror o uril 91 o AE Sarsu|

1. 60 litres/ 60 ®Icx
2. 96 litres/ 96 IeX
3. 40 litres/40 Tl
4, 35 litres/35 TicR

Correct Answer :-

« 40 litres/40 ey

60) Three years ago, the average age of a family of 5 members was 17 years.
A baby having been born and the average age of the family is the same as
three years ago. The present age of the baby (in years) is:/ éﬁatfua'c‘r, 5 TGl
a1t URaR $ 3NTd 1Y 17 99 31 Th = &1 o1 gidl 8, b ot ular &t adur eitwe smg 3
¥ Ugd B 3NN S & THF 2| T F} qHE oy @ F) 1 B

1.2
2.1.5
3.24

4.3

Correct Answer :-



61) Which of the following fraction is the smallest?/ = fU=T 9§ 19 O 9ad ®I¢i 82

t]
=1l en

s |

=1 O =l

-

sO | = [ =)

u| =

Correct Answer :-

62) The cost price of 24 apples is the same as the selling price of 18 apples. The percentage of gain

is:/24 TS\ BT 54 Y, 18 Al & fIpd o0 & R16R €, 9 Ufa=ra ary J1a s

1. 25%

33 ! B
y °°3 7o

2219«’
3,727

4. 20%

Correct Answer :-

63) Choose the odd pair of humeral./ ﬁ@mﬁ%ﬁwwaﬁgﬁq
1.36: 6
2.15:3
3.32: 4

4.42 : 4

Correct Answer :-

e 42 : 4



64) Anu and Bharti invested Rs.20,000 and Rs.24,000 respectively in a business.
Bharti left the business with his money after 8 months. At the end of the first
year they earned a profit of Rs.1,620. What is the share of Anu in the profit? /3]
3R URd B IR & HART: Rs.20,000 3R Rs.24,000 9% #3dt € | YR 8 A &
916 3T IRT AP ATUR SIS &l 8] Ued AT & 3id H o @IH Rs. 1620 ] 3 BT a1y A
o= «am ghme

1. Rs.1,250
2. Rs.720
3.Rs.1100

4. Rs.900

Correct Answer :-

» Rs.900

65) Inert gases are?/ 3ifpd I gl 82

1. Physically inactive/ Hifde =0 T ifhasiia

2. Not stable/ STt

3. Chemically very active/ A% ¥ ¥ 9gd fhariid
4, Chemically unreactive/ Ig/ER® =0 ¥ sffhamreia

Correct Answer :-

« Chemically unreactive/ IO@H® &0 ¥ 3ifparia

66) Two positions of a dice are shown below. When number ‘one’ is on the

top, what number will be at the bottom?/ wv@a&ﬁ@rﬁu’raﬁﬁﬁwmw
T | 9 I= T’ 2y wR B, 99 T w5 "= arufi?

1.4
2.5
3. Can’t be determined/3Td gl fdT oIl G dl

4.6

Correct Answer :-

e 5



67) The metal first used by man on earth was?/ a3 Ugell g i Al € o AT A
ST ot A2

1. Aluminium/ Tegi=aH
2. Gold/ i

3. Iron/ NI

4. Copper/ didl

Correct Answer :-

« Copper/ didl

68) When a wave goes from one place to another, it transports?/ Sd T a3

T T A g W B 3R 7fa Sl € o a8 et ag ol 8:
1. Energy/ el

2. Nothing/ W:@

3. Mass/ &4

4, Matter/ garef

Correct Answer :-

« Energy/ 3ol

69) Diamond is made of the same single element as?/ BT for U et aa 9§
T 3911 g1aT € SUY SR T ST gl &

1. Chloroform/ FARIBIH

2. Common salt/ HIURU THD
3. Sugar/ IR

4. Graphite/ PLAET

Correct Answer :-

« Graphite/ JpIse

70) From the given alternative words, select the word which can be formed

using the letters of the given word./FafifEd fawsl d 3 98 s g il few 1T
Mg P &R BT YART B T14T S Jhell 8-

SOMNAMBULISM



1. NAMES
2. BASAL
3. BIOME
4, SOUL

Correct Answer :-

« SOUL

71) Excessive consumption of alcoholic drinks causes damage to the?/ dgd

3T AT # UehIgd BT Aad B4 § DIHT 31T WIS gl bl g2
1. Lungs/ﬁv‘tﬁg
2. Kidney/ da&

3. Liver/ 9dd
4, Heart/ gad

Correct Answer :-

« Liver/ ddd

72) DIRECTIONS: Study the following information and answer the questions

given: /3 € TS ISR ®1 GHYd® e 3R - fT ¢ U=l & IR <

P, Q, R, S, T and U are sitting along the circle facing the centre./ P, Q, R, S, T
3R U T gd & g B 3R J& HI 96 3

(i) P is immediate neighbour of Q who is second to the right of R./ P, Q &T

Frread SN § S 3t R & TR I GO R R g

(ii) S is second to the left of T./ S, T & 10 I g¥X WM R B
(iii) U is immediate neighbourof T./ U, T mﬁmﬁﬂ?ﬁ?ﬁﬁl
What is the position of U?/ U &I fRUfS w1 8?2

1. Between Tand R/ T 3R R B

2. Second to the right of R/ R & G ¥ g¥RI

3. Immediate right of Q/ Q & Fweara e

4. To the immediate right of S/ S & M®ead g

Correct Answer :-

« To the immediate right of S/ S & Mwcaa e



73) DIRECTIONS: Arrange the following in a logical order:/ A ﬁmﬁw
3refgut v o syafeyd &)

1. Butterfly/ foraet
2. Cocoon/ ®IH
3. Egg / 8fST

4. Worm/ EbQIST
1.1,4,3, 2
2.3,4,2,1
3.2,4,1,3
4,1,3,4,2

Correct Answer :-

74) The fundamental role of root hairs in plants is?/ qﬁﬁnmg@mﬁmﬁ

w1 g1 &
1. To protect the root from soil microbes/ SISl &I Ha&I T JURRIT Y& Sital ¥ T & fag

2. To protect the young root from damage by coarse soil particles/ a%%ao‘ﬂﬁﬁ:ﬂiﬁ
SIS &l WIS B T T2 & folg

3. To absorb water and mineral salts from the soil/ SISl ¥ Sd @ Qo Aa0T Bl @R
P & forg

4, To bind soil particles to the root for firm fixation of the plant/ G@@W%Wﬁmﬁ
G UTGY B T R IR TS 36 & o

Correct Answer :-

« To absorb water and mineral salts from the soil/ G@@WHWW@W@H
& & fag

75) The material used for a fuse wire should have?/ TS dR o1 Ugrd &1 a1

gleT § Saa?

1. High resistivity/ 3 ARIY

2. High melting point/ 3= eI fovg
3. Low melting point/ % e fomg

4. High ductility/ 3= a=adl

Correct Answer :-



« Low melting point/ & T fag

76) Two taxies start from the opposite points of a main road, 150 kms apart.
The first taxi runs for 25 kms and takes a right turn and then runs for 15
kms. It then turns left and runs for another 25 kms and again after taking a
left turn it reaches to main road. In the meantime, due to a minor
breakdown, the other taxi has run only 35 kms along the main road. What
would be the distance between the two taxies at this point?./ﬁ%’éﬂﬂ, 150
.M. 91 g8 R Te T as@ & o faudia fAgael @ aemr yRY ol €1 ugd it 25 5.
Tadt ® 3R 21T gt @ ok bR 15 3. g 81 a8 e a1t ot @ ofik 25 5. 9ot &
3R fF 91 ge & 91c Y& Je® W Ugddl ¢ | 31 919 U 3eT a e & HIRUT gl earit
= 9@ I »aq 35 .1, gad 81 39 g W™ a1 eRi & e o1 gt gl

1. 75 kms/75 fob .
2. 85 kms/85 . 4.
3. 80 kms/80 fob Hl.
4,65 kms/65 o H.

Correct Answer :-

« 65 kms/65 fop. .

77) Cinnabar is an ore of?/ RFATR f$I®T s g1 82
1. Iron/ Eﬁ%T

2. Lead/ s

3. Mercury/ URI

4, Copper/ didl

Correct Answer :-

« Mercury/ URI

78) A is the father of B, C is the daughter of B, D is the brother of B, E is the
son of A. What is the relationship between C and E?/ A, B % fUarg, ¢, B 1 it
8, D, BHTUEE, E, ABTYAR | C 3R E & TH T T 82

1. Uncle and aunt/3m=T 3R =i
2. Brother and sister/?ﬂ‘*ac aﬁwsq
3. Niece and uncle/ﬂ-l_cﬂTrﬁ 3R T

4. Cousins/® oM

Correct Answer :-



« Niece and uncle/HdSl 3R T/

79) Dialysis is used for patients having?/ Ui (STSIRN) &1 TN fFa T &
fore fopar siran 3

1. Lung trouble/ ﬁ?‘ch_eﬁﬁﬁﬂfﬂ@f

2. Kidney trouble/ gadh § JH&T dTcl
3. Heart failure/ gedTdrd drcl

4. Liver diseases/ ddd H INT dTal

Correct Answer :-

« Kidney trouble/ gae & qo&l drdl

80) Which country is called the "sugar bowl" of the world?/ g # I S a=n
fay &1 A &1 HeRT” Fear g:

1. Cuba/ =41
2. Argentina/ 3{SIcHT
3. USA/ e IS0 AR

4, India/ HRRd

Correct Answer :-

81) The disease in which high levels of uric acid in the blood are

characteristic is?/ Gﬁ'\’»'f\%l?ﬁ‘qﬁ@' maﬁwaﬁﬁws‘rm%waﬁaﬁﬂﬂma&mév
1. None of the above / mﬁﬁﬁéﬂ'ﬁﬂ'

2. Arthritis/ STl & o

3. Hepatitis / gUcTgied

4, Gout/ T

Correct Answer :-

. Gout/ Tifear

82) Which of the following do not belong to the solar system?/ R kan
BUR IR qusd & Haf-ud 61 g

1. Comets/ ‘&J:H%



2. Asteroids/ g% Ug
3. Planets/ Ug

4, Nebulae/ %EIT

Correct Answer :-

« Nebulae/ ﬁ'q?ﬂ

83) Which of the following spices is obtained from roots?/ {9 ¥ |1 4T 5Ist A

WIS g 82

1. None of the above/ IWRId H ¥ I ol
2. Cinnamon/ GIat

3. Clove/ T

4, Turmeric/ Ec_t“

Correct Answer :-

« None of the above/ Wﬁ@aﬂéﬂﬁ

84) Fernandel and Arletty starts from their office and walk in opposite
direction each travelling 10 km. Fernandel then turns left and walks 10 km.
Arletty turns right and walks 10 km. How far are they now from each

other? /HRA~sd 3T TIAST U TR | TG YT H3d ¢ SN faudia fo=m & ude 10 fH
Tdd ¢ | s o fh 91d gsdt § iR 10 it Tadt 31 wrad g gl @ 8k 10 fred e
133 TP g 3 frad gt R g2

1. 20 km/ 20 foHt

2.5 km/ 5 f&HT
3,10 km/ 10 ot
4. 8 km/ 8 &t

Correct Answer :-

« 20 km/ 20 ot

85) The gland that contains the body’s thermostat is?/ 79 & 3 &9 d WY ;WK
H 19 Y FRifa S &1 w1l Fvedt §

1. Pineal/ fufae Ty

2. Thyroid/ UIgR(gS
3. Hypothalamus/ TRUREY



4, Pituitary/ Urgu 4

Correct Answer :-

« Hypothalamus/ EEUIYTEH

86) A person weighs more in a lift which is?/ T% dfad &1 YR foree | eifere g
gfe ferwe?

1. Moving down with a constant velocity/ A T A MW E
2. Moving up with a constant velocity/ A AT Y FUR 138! §
3. Accelerating downward/ =Id @RUT ¥ 378! &

4. Accelerating upward/ W%Wﬂwwﬁ%

Correct Answer :-

« Accelerating upward/ AR & 1Y SR ST 361 &

87) We lose consciousness if blood flow to the brain is cut off for more

than?/ SR} Y1 @A g1 Sel afg wikass $I fba a7y 7 Y90 7 a
1. 5 sec/ 5qHS

2. 15 to 20 min/ 15920 fie

3.5 min/ 5 e

4.0.2 sec/ 0.2 YHs

Correct Answer :-

. 5sec/ 5953

88) An apparatus used for locating submerged objects is known as?/@gﬁ

el & ged F RN F19 A T T SUANT 51 oI 8
1. Pulsar/ U®R

2. Quasar/ ®RIR

3. Sonar/ ¥R

4. Radar/ Y8R

Correct Answer :-

. Sonar/ IFR



89) A thermostat is a device for?/ YHIEE TU~ HT HTH HIdT &
1. Switching off an electrical appliance/ ﬁtrg,aauamﬁﬁaam%
2. Regulating temperature/ dIAN &I AT BT g

3. Producing heat/ ST &1 A0 &l &

4. Measuring temperature/ ATIH &1 AT %

Correct Answer :-

« Regulating temperature/ aOHH &I FRifd #ar g

90) The substance that causes the maximum air pollution is?/ fEdds=a

verd arg wguur & g Taifie Sarerd 81d 82
1. Smoke/ Y&

2. Carbon monoxide/ Wlﬂ:ﬁ&ﬁ'ﬂﬂﬁg

3. Sulphur dioxide/ TehR SR3HRIZS

4. Nitrogen dioxide/ T3¢ SE3HIRIES

Correct Answer :-

« Sulphur dioxide/ JehR SIS3HIFRS

91) How many triangles are there in the following figure?/ ﬁﬂmﬁlﬁﬁﬁﬁ
Ay=rg?

1. 16
3
3.7

4.9

Correct Answer :-

92) The smallest known prokaryotic organism is:/ I BieT M Rafes siig o9
qrg?



1. Bacteria/Sidry]
2. Microcystis/ HIBHIbReH
3. Chlorella/ AR

4, Mycoplasma/ IS oA
Correct Answer :-

« Mycoplasma/ IS IATSHT

93) The dry fruit chilgoza is obtained from?/ T& J@T %d faariien fead wre gidr

&
1. Cyprus/ Higud
2. Deodar/ G3{lgR
3. Cycas/ 9HYd

4, Pine/Uigd

Correct Answer :-

94) Organisms which have similar external appearance with reference to a

particular character are called?/ %Gﬁasﬁma&mﬁﬁwwméﬁﬁﬁm
ST 3

1. Phenocopies/ Tty
2. Phenotypes/ Blcigy

3. Analogous/ LB SIRIE]

4, Homologous/ BHIANTT

Correct Answer :-

« Phenotypes/ AU

95) Light coloured clothes are preferred in summer because?/ WT’T%HW@;
Wor g ° Wi frw wird § wife?

1. They allow body heat to escape faster/ 3 TRR J ST H! doll J 18R RopTad &
2. They soak sweat faster/ d UT &I Seal TG d &
3. Light colours are good radiators of heat/ e T T & 3 fafHw gld §

4, Light colours are poor absorbers of heat/ WWW%@ &H@W@?{%



Correct Answer :-

« Light colours are poor absorbers of heat/ WT’TW?@ 3IINYF §Id &

96) The main use of mica is in?/\’:{%mﬂ@mmmﬁiﬁm%
1. The electrical industry/ faguaeah

2. The steel industry/ STd IR

3. Petroleum refining/ USIfrad MU GG

4, The glass and pottery industry/ P g g IR

Correct Answer :-

e The electrical industry/ ﬁg&ﬁ?@ﬂﬂ

97) Atmospheric pressure is measured with a?/ Wwﬁmmw
ST &

1. Hygrometer/ 88U
2. Barometer/ R
3. Hydrometer/ gl2gMHIeR
4, Altimeter/ Qﬁjﬂa

Correct Answer :-

« Barometer/ SRIHEY

98) A number when reduced by 10% gives 27 as result. The number is:/TF TSI 94

10% Heril STl &, o uiRumd 27 31maT 8, §f W= o1 82
1. 30
2.35
3. 40

4. 33

Correct Answer :-

016 27 0.04 0.16 437 0.04
99) The value of 2437777 % (243)™% ¢ equal to:/ (243) 75 % (243)™% 1 1 fprd R B

=
W



2.0.16
3.0.04

4.3

Correct Answer :-

=
100) The diagonal of a square is 4" 2 cm. The diagonal of another square whose area is double

that of the first square is:/ﬁm’raﬁwﬁawh\'@@ﬁ%l T o) 1 o1 fawof gra &%, T Sawa
U & & &% BT &l 1 2|

= =
1. 9v2 cm/a\' 2 It
__ e
5. J32cm/ 32@1:13r
3.8cm/ 8 It

4.16 cm/16 99

Correct Answer :-

. 8cm/8@'£ﬂ



